PROFESSIONAL EXAMINATION BOARD

PrePolytechnic Test
3rd July 2016, 12:00 PM
Topic: Physics
1)

Question Stimulus :

Which of the following star/s remain in the same positloﬁiﬁt@?@ﬁ?wwq erc i |
fg 7 gard?:

e Pole Star/_gdrr

e Sirius /T a9

e Vega/am

e Aldebaran /¥ i f: goft
Correct Answer : Pole Star / g arT

2)

Question Stimulus :

A cockroach covers a distance of 3.0m from A to B and then moves a distance of 4.0 m at right angles to AB. The
resultant displacement would be / Qehl deTd T A 4 B de 3.0 A {& GREGEGH ?Gﬁ?‘f\ TR AB & THGRIT

TR 4,07} &t gt Fere &<} u fomaal g urge g

e Zero
e 1.0m
e 50m
e 7.0m
Correct Answer : 5.0 m

3)

Question Stimulus :
The waves that propagate through compressions & rarefactions is NN . . N
propag ¢ P / @ aGt o ddiet gd fiared @ aed

A 8

e Longitudinal Waves / 3¢ &t



e Transverse Waves / 31 o at
e Elastic Waves/ 79 a3t

e Light Waves/ COEUGEU
Correct Answer : Longitudinal Waves / 31g a&t

4)
Question Stimulus :

The speed of sound in air / gar 7 {7 &7 a7t
e Decrease with increase in temperature /  qruchdedauedT &

e Increase with increase in temperature / grchaeaddedl &

e Decrease with decrease in temperature /  qruchgeaecdr g

o Remains same with increase in temperature / dm&,q@.}\ﬁ\aqm w|are
Correct Answer : Increase with increase in temperature / dTd ch a@ﬁ\ﬁ\a@—crr g
5)

Question Stimulus :

The mirror that has the widest field view is / a8 &4 Uf /g9 e g1 g
e Plane mirror/ gHAJH T U7
e Concave mirror/ 3Tgde] €9 U7
e Convex mirror/ I ddey Ul
e Plane or Concave mirror/ gHJAT 3dddl &0 UT
Correct Answer : Convex mirror g q e gy o
6)

Question Stimulus :

When a ray of light falls normally on a glass slab, the lateral dis plage regichvaeil B=or 19
SR I A:uSdedeaT g e arogi

¢ O°

e 000



e 900

« 1800

Correct Answer :00
7)
Question Stimulus :
The height of the girl is 5’6" .To see the full image of herself in the mirror, the minimum length of the mirror
should be / Teh eTedh! &1 of T 56" g« Riesdeu m sroeTgREI fod @AY, diey urhy Fem
o 7§ gt farey
e 200
e 228
« 227
« 26
Correct Answer :2' 9"
8)
Question Stimulus :

A ray of light is passing through a parallel glass slab. The emehrgaml Hw@ydrHdy ¥ o

e i femwor

e Undergoes deviation only / haferage g CTGIR

e Undergoes dispersion only / ehaef hior 9 3Yd ETGIR

e Necither Undergoes deviation nor dis/[edis e 3R T & <hI0T 7 3d el &

e Undergoes partly deviation & partly dif piRI%kIShaTe iR S T hI0T 7 ST Hed &
Correct Answer :

9)
Question Stimulus :

There is a circular road whose one round measures 11 km. A car starts from A

and reaches tPe exact %l%posne position B as shown below, Its displacement is
/ T g ThR TSP 12:STHT T fehell 81 Ueh &R @ RY gl euagara aumig

B Ry TR A e sa i wieT
8 collegedunia



3.5km / 3. e

5.5km / 5. &reY

7.0km / 7. Gl

e Okm / (fref}
Correct Answer :3.5 km / 3.5 &7 i
10)

Question Stimulus :

When a graph of one quantity versus another results in a straight line with a
positive slope through the origin, they are /Sl U& T&H Teh U IATUT &Y T Jeh 3
& Ty Y ST &, 1} 3R T 0 geff §E B Teh eFIGT ST chl Yk et Ram gt 8, ag AW gl §

e directly proportional to each other /  Teh &R & 31 AT

e inver sely pr opor t ional t o each ot her e &R & AMYe!

e independent of each other / Tahga® d

e always equal / 9&d sRT&R
Correct Answer : directly proportional to each other /Y g@R & 3T AT

11)
Question Stimulus :

A ball is thrown up with a velocity of 10 ms1 from the top of a terrace of height

10 m from the ground level. The time taken by the ball to fall to the ground is:
(Take g =10 ms2). / T& T & &t f47 T 10 Hio Fft yah ®d HIf @I 10 ms1 &
N F FW I 3R & o1 | B RIRA R au g R e margmg &3 (9 =10 ms2 ) |

o« (V3+ 1) s



e (V3-1)s
e [(VI0—=1)2]s
e [(V10+ 1)/2] s
Correct Answer (/3 + 1) s
12)

Question Stimulus :

Which one of the following graphs can represent a motion with a uniform
positive acceleration? /Rl @ad YpAITARTHTHHLATIGEH IOTRIAHRT

T 7 R GeheT &2 44

(t = time; v= velocity; a= acceler at/igt n FHI ; v =3a7; a= 30
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Correct Answer :

13)
Question Stimulus :

An athlete weighing 54 kg running at 4 msl increases his speed uniformly so
that his momentum after 6 seconds becomes 540 kg msl. His acceleration
is : / 54 foheliaodTeyeh Eersiait 4 msl’ JHEERITRMNaaaE &¥eg FR

TodIfed  Achghae3gahrEd 540 fhet Ms1 g 13ehT 018 i

e 1.2ms?

e 1.0 ms?
e 0.8ms?
e 0.4 ms?
Correct Answer :1.0 ms?2

14)
Question Stimulus :

A thick wire is tied to a hook on the wall to hang a focus lamp just above a

statue in a temple, as the dome above is far too high to hang the lamp from
there. In order to keep the lamp just above the statue, the wire needs to be
pulled horizontally and kept in position by tying it to another wire whose other
end is fastened to a hook on the opposite wall.

(See the diagram below). The lamp weighs 30 kg and the wire supporting it

makes an angle 300 with the wall. The minimum tension the supporting wire
should be capable of bearing is /

h AR 7 Us P am & Sid SR UE WA @ U dchM i a¢ daR W TR & § U Al aR g
am g i 7ag & SR do i FAE & cch &f oot 4 foryss St 8l @ o @ T am & S
TR W@ F A, R &t a0 v § died wd I I 7 gR IR § s & oma war g g
T SR audd SR & & § &e1 gl (I 3 3 ) 7 U & goi 301 T8 Td a8 IR it 3@

TERT 3 T8 8, <} §ar § 300 &1 vl g7 |+ TERT 3R arelt IR i T a7 T, St SHehT a8 B J

g | g

(Take g =10 ms?)



Ty

]
(o2}
(O)
o
Z

500 N

350N

300 N
Correct Answer :350 N

15)
Question Stimulus :

P is a hotel on top of a mountain peak of 5000 m height from the sea level. Q is

a house in the Mediterranean coast. R is at the bottom of a mine, 2000_.m below
the surface of Earth. Gravitational pull / PEq 3000 tex $it Teh ug =AY &

MY TRUGEIeeTg | 3 RRhdeURYeheRg| q%ﬁﬂﬁg‘% R, 2000 #HieHA 94
Qeh @M gl 1 Ty U7 Erg

e willbe the same atP, Qand R. /P, Q @& W= 9# ghm|
e at P and R willbe mor e thanthe gravity at QQ @I 30 TP Gd R R Tehy U f3feren givm|
e at P and R will be less t han t he gr avity at QQ @1 310 TP Ud R TR T TehY UT &hH §ITI|

e at R will be more than that at Q, which will be more than that at P.

/R ®R Q ¥ f3rees gl oawR wg P & f3feres g

Correct Answer :at P and R will be less than the gravity at Q. /Q ~ &I sd1 PTER W &Y U
& |

106)
Question Stimulus :

Gravity is more at the poles than in the equator because /T &Y 7 o @ &

o | ioRiarered e

e Poles receive less sunlight than the equator.  / A TR @R U THA YY T Bt i?|q



e Earth’'s magnetism is stronger at the poles than at the equator. /
g TepTdEh _giuRe Y@Tehter Tfateeh deial

® Poles are covered in thick ice while the equator is not. /.39% A AE RI T d § Sifee .
ELCIE R |-:;j;:f
¢ FEarth bulges more at the equator than in the poles. f{"f\,@iﬁeﬂﬁT
O RGTRfSTRI R § o
Correct Answer :
Earth bulges more at the equator than in the poles. H{TOQEﬁGTaTﬁ @1 R faferen I
g8l
17)
Question Stimulus :
A simple pendulum has a time period of 1s. When the mass of the bob is doubled and the
length of the pendulum is increased by a factor of 4, its period becomes / T& I dAtcdiah hl

3ify 1 9% | 59 i 1 AT SN[ B &1 STIaT & 3R wfieteh i o S 4 & hReb T gl &1 STrar
2,3 Y STt Srfdy o el @

e 28
e 25

e Ui s

o 45

Correct Answer :2 s

18)
Question Stimulus :

Two springs with spring constant 6500 Nm1 and 3500 Nm1 are connected

first in series and then in parallel and made to oscillate with the same load
attached. The periods of oscillations, Ts: Tp will be approximately in the ratio
/ & Tif STeRT AT 2Rieh 6500 Nm1 Td 3500 Nm1 8,23 &l ugal ot 7 3fikf o=

TR ST ST & T THM 9R § SR ale el STTdT 8 Qe sl § Ts: Tp St aTeT

9 Y A g




Correct Answer 2 : 1

19)

Question Stimulus :

Which of the following sentences is NOT true of a stationary wave? /, N
ar 3 T ail Al ava w g ad g ffaeas Fama

A Il the par ticles cr oss their mean positions at a time. / Goft o Ut AT I ot Ueh g I W

T HdE |

All the particles vibrate with the same amplitude. / IR UTIHMSTAT & 919 U= hid & |

e There is no transfer of energy across any plane./  frdfiaaae™ ST T g g Ta=0T :rg?r%|“

There are some particles which are always atrest./  &® HUTQ8gId g it G&af g ™I AT H A & |

Correct Answer : Allthe par ticles vibr ate with the same amplitude. /@t o1 G 3MAH & ATy

thUTehedg |
20)

Question Stimulus :

Distance between any two nearest points in a wave train that are in phase is called

Famfaer 7 {erd} oft G eheaml dgs & da fi gt, Sif ' maT A &, Fgardt & :

e amplitude / STMAH

e wave length /dTE



e phase factor / T AT U

¢ wave span / a1t afd
Correct Answer : wave length /a3 ¢

21)
Question Stimulus :

Frequency and Wavelength of a wave / TehayThIaaTe Qd ofg

e do not have any relationship in their variations. / g AT U@d T H his dae 781 &
e are always directly proportional. / &3] AYE 81d & |
e are both dependent on the phase difference./  gichelick WRf AT I A B |

e are always inversely proportional / T, AT 81 & |
Correct Answer : are always inversely proportional  / G&& _ ATYI< 81d & |
22)
Question Stimulus :
Shape of the Milky Way galaxy is / & A& SRR T SHR 3 :
e Spiral/Rua

o Elliptical / &&r g TepR
Regular / Afawa

[}
Irregular / f3ffma

[ ]
Correct Answer : Spiral g a

23)

Question Stimulus :

A galaxy that is moving towar ds E ar th will show in spectr a / Ueh STTehIRFITT it g7t 3R 96 BT 8,
RC kel ¥

e achange in shape and size / HTfehd Qe 3MTehR A Teh U 3&d o

e ablue shift/ Yerfieferra uraw

e ared shift/ gep d1eT T 7 9 UTUT



e adecrease in brightness / TH&% H &HHt
Correct Answer : a blue shift /& =iel &1 &If @ a1
24)

Question Stimulus :

Two coils are identical except that one has air core and the other an iron core.
If their inductances are Lair and Liron respectively, /3@l aaismadd 998
Ryama safdhes geh 7 a1y 1S UgUa &1 W dle 1S 3R S & |HR : Lair ¥d
Liron &dt :

e Lair > Liron

e Lair < Liron

Liron

e Lair

e |t cannot be decided without knowing which way the coils are

wound. / farrrgsTal sl aaifhaarmhideasdt Sgafger wagl
forar ST EeRaT @ |43

Correct Answer :Lair < Liron

25)
Question Stimulus :

The force between two long current carrying parallel conductors is #HMIGR taRf&aggd
URT fAgd al o At h 7 FA S :

® directly proportional to the product of the currents and directly proportional to the

%Iistance between them /fRggeaRISNNIeRT ATIYIAUESThH GRS ALY

® indirectly proportional to the product of the currents and directly pror

distance between them / farggd &RT3f & UM @l | AT Ta I9eh H 3 et 31 AT
&

® directly proportional to the product of the currents and indirectly proportional to the

distance between them / farggd &RT3fl & TUH el 317 AIIYId Gd 37ch 7 4 &l AT
&

® indirectly proportional to the product of the currents and indirectly proportional to

the distance between them / faggd_ &mrait & U e, ATIYI Gd Sch A g3 &l
B RO

Correct Answer :directly proportional to the product of the currents_and indirectly

proportional to the distance between them BEIURISIHUAGIS AYIATESTRA



T, AT &
20)
Question Stimulus :

B rushes ar e used in D C gener ator s toSodto SRex | fpaai &1 gl svar STrar & :

* collect current without any sparkings /" &l SR} & &1 o o1 &t Y& e 7
e collect voltage / fggdaraehifch @ A |

e reduce eddy current loss /  HdRURIRM @t & &en |

e convert AC armaturecurrent intoD C #A & [aggd oR1 &t DC figgd em1 7 ufad d &eA &
ferg

Correct Answer : convertAC armaturecurrentintoD C / A TR faggd emriat  DC faggd art
T U fad d oA f &g

27)
Question Stimulus :
A solenoid of length 80 cm and radius 2 cm has four layers of 500 turns ec

magnetic flux density at its centre on its axis when a steady current of 1.4 A passes
through the coil is (Take po = 4 X 107 NA2) / 80 IH

&l 500 T dTel IR U § | 51 1.4A Tl IRAGGAIURIG S fATedaidledisadst & & W
fargd g g arg @1 9T 1 po = 4 X 107 NA2 & AR
e 88X 103T
e 66X 103T
e 44X 103T
e 22X 103T
Correct Answer : 6.6 X103 T
28)
Question Stimulus :

The eye lens in the human eye has the ability to adjust its focal length in order to see
objects at different distances in focus. This capability is known as /Aa" &et F@f faw
Egﬁ'!m??@ﬂGﬂﬂﬂﬁ?dslm«@ﬂlmmgwmmmaﬁaﬂﬂmﬁﬁwmﬁﬁsﬁwaﬁ A

G IW A9Fdg

e Persistence of vision / cfq gy



e Farsightedness / gzfeera 1
. Accommodation / GHSIH

Astigmatism/ T a%

Correct Answer : A ccommodation / HviH

29)
Question Stimulus :

When a person enters a dimlylit room after having been in bright sunlight for a
while, he cannot see practically anything for some time. This is due to : / U

B $B THY i dY I A T o AR T IgA & 915, ST Yeh hH AT aTd piR 7 3
AT 8,5} I9 I8 O THY &hf Y TagT e U T o ot gl 32 TohdT| SR HRUTS -

e the eyesight of the person being very weak. / B &R 97 wreiR g ot |+

o the eyelids closing down by themselves./ uee decg! STl § |

e the pupil in the eye taking time to adjust. / 3 7 ygeitaiAteid g & og Tag A 8|+
e the sudden temperature change./ 3™ dI9HE U Ed 9

Correct Answer : the pupil in the eye taking time to adjust. /= ¥ qgeht TIiieTd g &f Qg w7

30)
Question Stimulus :

The resultant of two forces 5 N and 12 N on a body always lie between /T q,

WR A Al 5 g 3R 12 g a1 U 0TH 37eh i gar 8

e ONandl17N/ON 3R 17 N
« ONandl12N/ON 3R 12 N
e ONand5N/ON 3R 5N

e 7Nand17N/7N 3R 17 N

Correct Answer 7 Nand17N /7N 3R 17 N

31)

Question Stimulus :



The ratio of K.E required to be given to satellite to escape earth’s gravitational field to K.E required to be given
satellite to move in a circular orbit just above earth’s atmosphere is: / e} 3u g ) I:I'Tékg YU

TATIARRASRY ThaTgHEThIhSHURYhY ThIReh | fild TheAch T 31T HiTdSTeol bl

e I nfinit y3d
Correct Answer :2

32)
Question Stimulus :

Two men weigh 70 kg and 84 kg respectively and their heights are in the ratio
5:6. Their body inertias are in the ratio /& Bdl & asid #: 707 % T TF 84
foh 18 d 7RI <feiTd 5:6 & S A 8|+ I7h IR & 9 HT Y &

Correct Answer :5: 6
33)
Question Stimulus :

An object of mass 36 kg moving at 10 m9 s sybjected to a force of 54 N. Its
speed after a minute will be /36 T A& U ,,54N da & AT 37 10 ms

1 Gt RseaTe TR g

e 70 ms1

o 90 ms1

e 100 ms'

e 150 ms'



Correct Answer :100 msl

34)
Question Stimulus :

Magnifying power of a telescope in normal adjustment, with Tm and 10 cm
respectively as the focal lengths of its objective and eyepiece, is/

ThichdTehvuT <hl fafT & T f a1 21 1 Hio Ug 10 9T g, I 9T g™ 9
el 1T Y SraY 7 HaT ;

¢ 1000
¢ 110
s 32
e 10
Correct Answer :10

35)
Question Stimulus :

Magnifying power of a simple microscope of focal length 8.0 cm for a person
whose least distance of distinct vision, D is 20 cm is /3% B fchely hicheitezor
8.0 T areft Y 1 i gy Ha, fSraehyg T v Afhafgasreangdi g ddid | D *20 ,
e 35
e 38
e 40
e 42

Correct Answer :3.5

30)
Question Stimulus :

Arrange the following planets in increasing order of size: Earth, Mars, Jupiter,

Uranus / Af '@ @d gl ot sigd smpR & 78 I : g7, wtid, ggf d, a9

e Earth—Uranus—Mars—Jupit 681 Z&T8 Hid el a

e Mars—Earth-Uranus — Jupit F7d g1 g4 i a



e Mars — Jupiter — Earth — Uranus /  #iieiggfd g7 e

e Earth — Jupiter — Mars — Uranus /  gqgfq i a9

Correct Answer : Mars—E arth—U ranus — Jupit 6F7ieT g1 g&T9 Jef d

37)

Question Stimulus :

Arrange the following planets in the decreasing order of natural satellites they

possess: Neptune, Mars, Mercury, Saturn /WHWWWWWW
S 3 faferR | g - AU, 7, 99, R

\

e Mercury, Mars, Neptune, Saturn / , JYFIe-A 39 |
e Mars, Saturn, Mercury, Neptune / ﬁﬁa@‘—@ﬂ?@c\i

e Saturn, Neptune, Mars, Mercury /  f=3g Jeivierge) |
¢ Neptune, Saturn, Mars, Mercury / =8 _JfRHiegy

Correct Answer : Saturn,Neptun e, Mars, Mer d@fy=8 7, e, g

38)
Question Stimulus :

Solar energy is used to a maximum extentin /¥R & @ AT 7 fFerchan Hwr aeRl awar STar
g
e solar heaters/ 4R ger

e solar calculators / 4R g Ifhat

satellites 8BU g
e road signs/ gse T
Correct Answer : satellites / 3U &

39)

Question Stimulus :

An ecosystem which can be easily damaged but can recover after some time if damaging

effect stops will be having / TehuTR fﬂ?ﬁﬁﬁﬁﬁwaﬁﬂ?rf\a @ﬂﬁ?ﬂ%ﬁﬁ?@ﬂw o
WS SEIGdIGBaHIhY TaqgSsR I Fendied gl

o

e high stability and high resilience /3 URATTEI Tl



e low stability and low resilience / 3 wRarga™ T1e@r

e high stability and low resilience / 3 Rargal T1e@r

o low stability and high resilience / {3 eRargas 1¥ar
Correct Answer : low stability and high resilience /{9 RATTd I TYdr
40)

Question Stimulus :

When you sit in a bus at rest, there is a tendency of falling back, when the bus suddenly starts, this is due to /
ST SSAg ASAJIdST HRY Bldld Ul@TR-ATl § d gREcIesahhRUIadl o
8

e Velocity / a7t
e Inertia/ds
e Force /dd
e Mass / H T4
Correct Answer : Inertia/S'g

47)

Question Stimulus :

The maximum dis placement of a particle from its mean position of the wave T ! a1 ht

a1 Rq Afeerchanf a aro giar g i
e Wavelength / a3l
o A mplitude /3T :TH

e Wave period / 937 bl

e Wave frequency / 3T 31fq

Correct Answer : A mplitude /3 :TH

42)
Question Stimulus :

All images produced by concave lenses are /[d@daa Ris= qoft fies gid &

e virtual, erect, and reduced / WA, g 3R AgRd



e erect, magnified and virtual / , & g 3mfaed iR mHRY

e inverted, reduced and virtual /  3Iefer {egd 3R 3Tt

e erect, real, enlarged / , 3 g qif gepsiiky faea
Correct Answer : virtual, erect, and reduced / GJTﬂT\Eﬂ, $d, 3R oTechd
43)

Question Stimulus :

The product of Force and Displacement equals / &1 3Rl 'd 2Tq T U 2k SRT&R gHTT

e Power /U B

e Momentum / T

e Work / &1 T

e Kinetic Energy/fast st i1
Correct Answer : Work /&@

44)

Question Stimulus :
A ball of mass 1.5 kg is hurled up vertically by a launcher with a speed of 18 msl. Its

kinetic energy at a height of 12 m is: Take g =10 ms2) / & 7 &f Wi9a&1 A1 1.5 fr 18,
T i & RT18msl N AT Ie 78 FW &t 3R & &1 77| 12 Ho &Y

s 63J
s 39J
o 42
s 84
Correct Answer (63 J

45)
Question Stimulus :

Assuming that one parattha gives a hill climber of mass 60 kg the energy of
24kJ and the efficiency of converting the food energy into physical work by the
man’'s body is 25%, the height he can climb from the energy gained from one
parattha alone is (Take g = 10 ms2) / Ig A Uf ‘& Teh URTST Teh Ug dRIgIf STeehl {1 60



R 18,5 Y 24kJ Y Fomm a1 € wd arreHt & R T, WIS S ot fiide g 7 uRAd d e @ ar
25% &,:F T AT WRISTY T ol 9 ag S+ ST I¢ Gehll 8 ;

e 4m / 4 "R

.06m/613{

Yo8m / 8 #

Yol0m / 10

[ ]
7o
Correct Answer : 10m / 10 7o
406)

Question Stimulus :

Solidification of radioactive waste means/  Reaif&y 7 afasr i dda @ a1y &
e C alcinations / f9 :Tua

Bituminization / fagfaerzor

Vitrification / &<l el Tid=oT

Al of the above / IW 1B ¥ o
[ ]

Correct Answer : All of the above / IUAB It

47)

Question Stimulus :

Rate of change of torque t with deflection B is maximum for a magnet, suspended freely in

a uniform magnetic field of induction B, when : /A9 * @cide  &U ad ThiefSTIchang
JHHfAy St & TF 0B HURTATGSRIT H Ahl Mgsiaeh

e B=0°

e O = 45°
e O = 60°
e O =90°

Correct Answer : 6=0°

48)

Question Stimulus :



A capacitor is connected to a cell of emf E and of some internal resistance. The potential
difference of : / Ga HHT 3, Ta et (emf E) Td G 31id ok [exrell & g1 81 aif qerrariei -

e cellis E/ OcknT

e cellis < E/dpF

e capacitoris<E/dYTIadI< E

e capacitoris>E/GYTI I > E
Correct Answer : cellisE/ @@l E

49)

Question Stimulus :

Two plane mirrors are placed per pendicular to each other. A light ray strikes the first mirror anc
it falls on the second mirror. The ray after reflection from the second mirror will be : / & THd &U UT Yeh G&R

WW@W@W%@WWEW@%WWWW@
TEEY VORI dgIHchaiensor gt

e Perpendicular to the original ray / JeIf Ul & & ad

At 45° to the original ray / Felf <0l & 450 TR

e Parallel to the original ray / T eoT & THicR

e At 60° to the original ray / HeIf eoT & 60° TR
Correct Answer : Parallel to the original ray / &?{f\ER'UT & gHIAR
50)

Question Stimulus :

The velocity of light emitted by a source S, observed by an observer O, who is at rest with
respect to Sis c. If the observer moves towards S with velocity v, the velocity of light as
observed willbe / Ya S RI3foid eramadt, %0 Rif af warman, sife Sdaw @

RAmsmearc 7 R &SRy AN wmar g, af war mar s o a9t ghm

e ctv

= 7, 2
W1— ¢ fws

Correct Answer :C



Topic: Chemistry
1)

Question Stimulus :
Which of the following is not an q’lﬂf@h@?ﬂ? Y d T8 gr
e Graphite /" %hIge
e Germanium / SHf a9
e Silica/fg f: awer
e Silicon /g f: dep
Correct Answer : Silica/fg f: e
2)

Question Stimulus :

Burning of fossil fuels releases gases that are / Star gﬁq%w\@\ﬁﬁ\ﬂ'@ﬁ?ﬁg,ﬁ@g :
* Acidicin nature / 3T fpa
® Basicin nature / e %Eﬁ
® Neutralin natu regarfiq fgd &t
e Amphotericin nature / IWgeH fhd Fi
Correct Answer :Acidicin nature / 3119 fgd &t
3)
Question Stimulus :

A metal compound reacts with dilute hydrochloric acid to produce
effervescence. The gas evolved ex nguishes a burning candle. The gas is / W%ﬁﬂm&mﬁ Ih

31 haraf o ATRRGGIGTSAT ThedTe iFHeheriIUdhoTeld! 3 HIAE | SIS &l 81 T8 14



* CO
Correct Answer :CO2

4)

Question Stimulus :

The total number of elements known at the time of Newland were / ASHTH 1 ~RECal Pl I 7 ot

s 20

* 03

® 56

& 065
Correct Answer : 56
5)

Question Stimulus :

Goitre is caused due to the de fic je aoet QihY Y & HRUT BT &4
e Calcium /& IH
e lodine /3m < g ¢ T
e lron/3MAXH
e Sodium /¥ ol g
Correct Answer : Lodine / amy <1 €t 9
6)

Question Stimulus :

Which one of the following is not a characteristic of an ideal fuel? / ff T & 3geT &7 T A T I TT Yeh

Tl 2
e High calorific valueg/ el ¥ieT- A9
e Spontane ous burning/q: ggad
e High ignition temperat arg od 1T

e No emission of smo¥fg #r i I T 7 gt



Correct Answer : High ignition temperatir®@ oHd <:T 0

7)
Question Stimulus :

T he symbol of the me tallic element which is used for making the/ e ted dis faga goam

AT HieRaTH{hehaTSTIdTg, £ &l dichg.
o Ag
e Hg
e Mg
e Rg
Correct Answer :Hg

8)

Question Stimulus :
The number of electrons in the atom of an element is 6. The number of neutrons is 8. The correct representation

of atom of this element is, @HWQ@Z@WT ' 6 8 &ﬁ'ﬁﬁﬁT8 HESER]
URHATIRIE TR ToT R

. 8X6
° 6X8
. XM
6
* 14 X
Correct Answer : 6 X!4
9)

Question Stimulus :

Which one of the following represents the correct electronic configuration of

calcium(At No 20) /fafd@a dg @ &9 & g9 (At No 20) &1 ggigdl s« fiaas
fa raf i uaq sear g7

e 2,882

e 28,10



e 28,8

e 28 18,2
Correct Answer : 2,8,8,2
10)

Question Stimulus :

The formula of a compound is XPO4. The valency of clement X is / Th &g & ~XPO4d X &
Gtstenar givft

Correct Answer :3

11)
Question Stimulus :

One of the following elements has an atomicity of 8. This elementis / ffd @d a7 ¥ g d &I URATIHAT
g 8lagd &

e Argon/S3TMH

e Hydrogen / 8188 T

e Sulphur /9 R

e Ozone /3T 1T
Correct Answer : Sulphur / 3
12)

Question Stimulus :

One of the following represents solution of solid in solid. This one is: / FAfa@d 7 Uk, ST T 319 & @i
oY feerd oear R)aguene :

e Barium /s TH

e Brass/diaa



e Berylliun & Reaw
e Bismutlf fy
Correct Answer :Bragsitad

13)

Question Stimulus :

During the res piration c ombus tion of glucose takes place in the cell. During this process carbon d
is produced as waste. These waste products leaves our body by the process of !/ g9 heRH fohleerT 7

2Tk 3T T &g glaT &) 59 { ohdl heR= ahid = BT8 34T 138 TaoTd 1T Sy 7 3f ed gldg 1 3
AT UgTy AR WG o R a@lg | \

e Effusion /A zor

e Diffusion/faazor

¢ Osmosis / TRIERO

e Plasmolysis / Sfig da+
Correct Answer : Diffusigh fagRor
14)

Question Stimulus :

HC1 and N H3 are covalent compounds but their aqueous solution conduct electridity s is due

NH3 TEEdtsTeh TR § R 3T STeftaf gera 33gd Tefiold e 8] g9 hRoT §
e the presence of free electrons in the solution. / [0 7 B get =1 bl 39U
e the formation of ions in the solution. / faer@ & Sma=T i T@=T
e the formation of hydrated compounds / STatfatera fTent &t 7@
e the formation of coordinate compounds. / STTgGLTSH fTent ht Ta=T
Correct Answer : the formation of ions in the solution. / fdea & 3T hY TIAT

15)

Question Stimulus :
Identify the substance that gets oxidised in the following chemical reaction A?DETQI

ggfrad sifa wafRas My a7 of tpa gt smar &



CuO+H, _4&  Cu+ HO

e CuO

e H2
¢ H20

Correct Answer :H2

16)

Question Stimulus :

The number of valence electrons in S2 is / S 2-q gl g A A a 18"

Correct Answer : 8

17)
Question Stimulus :

Which bacteria is responsible in the nitrific ation in nitr/oZ8ST toye WiSehd & AT ThOT A I T
§7 T3 wErf grarg rle

e Clostridium / T e fga®

e Rhizobium/zoTes o flzagy

o Nitrosomonas / T8¢ TaHE

« Nitrosomonas and nitrobector /AT8e AT 3R 15 18 3

Correct Answer :Nitrosomonas and nitrobector / 8¢ A 3R 18 18 *

18)

Question Stimulus :



When electric current is passed through an electrolyte, the cations fﬂ-crf\agga\ﬂquﬁ

faregdema ¥ oY &, a9 oA

e Migrate towards anode / =Yg &Y 3R i fRAUa g1d ©

e Migrate towards cathode / heftgdhiania fArgd gd &

e Loseelectrons/ zaot THiepRaledg A

e Remain unchanged / 31q g aigag
Correct Answer : Migrate towards cathode / Shaifg &t 3fRf g fArad gid &
19)

Question Stimulus :

An element with atomic number 38 is placed in / 38RAM Hich & Yeh d i ITA @ AT &

o 5™ period and® groupy 5 smEA &k 2nd g
e 60 period and® groupy 6th 3Mad R 2nd g

e 4 period andMgr oup 4th 3mEd R 4th g
e 2nd perjod andPsgroupy 2 "d g ok Sth 99g
Correct Answer :5thperiod and® group 5™ amaa sk 2 nd Tg

20)
Question Stimulus :

When a gas jar full of air is placed upside down on a gas jar full of iodine vapours, the
violet vapour from the lower jar go upward into the jar containing air. In this experiment :

/| SO g 4 MR Th T8 TR ot g a1 & R 8 IR & IW Iac o @M Sal g, af A9 g 9R 4
I a7 SR IS gaT & MR TR A Il Sl &1 89 AT H

e Air is heavier than iodine vapour. / gd1 INE a1 O ey v gidr 8
e Bothiodine and air have the same density. / M QHEHT 41 T g9 9HE 8T @)

e lodine is heavier than air. / 3TV gar & fafres “) gt &)

e lodine vapours can not be heavier than air because it is going upward against gravity. /3 )

T fateres Wi TR Y Tt {1 a8 7 ThW T dhf g IR Y 3R 7 @71 8)

Correct Answer - lodine is heavier than air. / 3TTEA gaT ¥ f3frer WY gt 2



21)

Question Stimulus :

select the exothermic reaction from the following /ﬁrf\a@?m B3 TN 1 a7 7 97 9

CH 4+ 2044 ——p COgp + 2H20

3Fe(s + 4H.0 (steam)  FesOas) + 4Hyg

2FESO¢:5] & FEQOQ,(S] + SO;:E{] + 503:33
Pb(5}+ CUC|z{aq} —p PbC|2(aq}+CU{5}

Correct Answer : cHa+ 2009 —— COzg+2H:0p)

22)

Question Stimulus :
When potassium iodide solution is added to lead (Il) nitrate solution, yellow precipitate is

formed. / S Qiferm smaess aog sl @2(ll) A5 < ada 7 e Srar §, ¢ fier 31a o g @)
The chemical formula of the yellow precipitate is / fia 3rq o &1 Iq1@e % g &

s KI

e PbI2
* Pb(NO;),
e KNO3

Correct Answer :Pbl2

23)

Question Stimulus :
Which one among the following has nondirectional bonds? /ﬁf\amq an FRE
e g g ?

e CH4

e NH3



e KC(Cl
¢ Belk2
Correct Answer :KCl

24)

Question Stimulus :

Magnesium reacts with copper oxide as follows : / Aferam o oif 128 & 919 59 R

3y a1 epar &3
Mg + CuO — MgO + Cu
This equation represents — /

g GHYhROT S T &
e Double displacement reaction as well as redox reaction. / fT'a uro= f3ify a1 o &1 faify ar
e Displacement reaction as well as red ox rea¢t faremo= faifey ar sk et faifey ar

e Double displacement reaction as well as C ombinat ibrf T'@ e daifs a1 ok g @
farfay a

e Displacement reaction as well as decomposition reaction. / faarga a1 fl: o7 2 7 7 ok rumed T fl: 9y 7«
Correct Answer : Displacement reaction as well as red ox rea¢t farmmo= faifer ar ez et faifdy am

25)

Question Stimulus :

A covalent bond is formed / Ueh Gg&dtSTeh §¢i= &l TS gidT &

e between highly electropositive and highly electr one gat fe3 @ﬁ@?ﬁﬁﬁ@iﬁ a3

faregdiongard el -
e between two highly electropositive e le rge3faggdt emmgs a1 &

e between two atoms of comparable electro negativity. / & J-1d A& SRUMGHAT & URATILS]
=

e between atoms of noble gases. 3, 74T o URHATULS] o &l

Correct Answer : between two atoms of comparable electro negativity, / & g1 G FOTGehdT

& RATULSIGE |
26)

Question Stimulus :



W hat is the name of the alloy of tin/afdf RIS Ffa g & am 187
e Solder /&R
e German Silver / ST/ 7 Tic}

e Brass/diad

e Bronze /i
Correct Answer : Solder /9 3T ¥

27)
Question Stimulus :

The nonmetal which has me tallic luytSRRIISTEH o1 & Tk gicl &
e Diamond /g3 T
e lodine /3ma s oitg
e Sulphur /9 R
e Graphite /" %Ige
Correct Answer : Lodine /3m <:1g <4
28)

Question Stimulus :

Which of the following elements has the same molecular mass as its atomic mass? / R @ @a# AT ai e
QAU AT IR & AFhIATG! 8 ?

e Nitrogen/ T8 oI
e Argon/3MMMH
e Oxygen /TSI

e Chlorine / =
Correct Answer : Argon/ 3T+

29)
Question Stimulus :

Whole mass of the atom is due to the presence of / URHIUL T G&T HIH 38h! IU A & RO gidT &



e Proton and neutron/ Yefq ik gt

e Electrons and protons/ z& T3k YefH

e Electrons and neutrons / gt iRk g™

e Protons only/ haet TIeiq
Correct Answer : Proton and ne ut ¢ agTT 3R L@ﬁ
30)

Question Stimulus :

W hich of the following alloys contain maximum percentagd & & Gipednd T8 7 IR <l
°q ar fateena# & 2

e Gun metal / 79 #¢d

e Bell metal / 9141

o German silver /S A g3

e Brass/ i
Correct Answer : Gun metal / 7T 8
31)

Question Stimulus :

The electrolyte used in a dry cell is /Uage ¥ 7 gBf aggdsmy g

e 38% H2SO4 / H2SO4 @1 38%

®* Moist paste of ZnCI2 & NH4CI/ ZnG) Td NH4CI& 8 dd

¢ KOH

e Concentrated Na@HTi’f_ﬁ NaOH
Correct Answer : Moist paste of ZnCh & NH4CI / ZnCl, T& NH4CI@T 787 o
32)

Question Stimulus :

Eutrophication results in reduction of /gqivor g8 AT &t T 0MH AT &

e Oxygen on land / f4# u? it T4



e Dissolved oxygen in water bodies / 71 Taiaf aferaa 3if s
e Dissolved minerals in drinking water / ~ d/¥ehuriw faferad f@ast
e Dissolved nitrates in soil / W‘q‘f\ afergaase ©

Correct Answer : Dissolved oxygen in water /o §al | { aferad it Yo

33)
Question Stimulus :

Which of the following oxides of nitrogen is not a commory dif FeHUTENGSIT 58I A

SIE IR EAEEIE I rde
s NO2
¢ N20
» NO
o N205

Correct Answer :N20O5

34)
Question Stimulus :

The poisonous gas that reduces the O2 intake capacity of hae mogld&beiiAbIBLABIH HISg
S s & 02 §UT Al Tl bl vl AT & -

e CO2
e CO
e O3
e NO2

Correct Answer :C O

35)

Question Stimulus :

ldentify the most metallic element from Na, Li, Rb, Cs, K belonging to | group of the

periodic table. / Na, Li, Rb, Cs, K # Qfefuchdrel sha Tdfhlsidsiiamed aRuffehaHg | 9



Geiffaa &

o Li

* Cs

e Rb

¢ Na
Correct Answer :C s
30)

Question Stimulus :

A solution of salt of strong acid and weak base is/ & 31 3R g & Reh Il g gidl &
e Basic/ 1¥&T

e Moderately basic /9 # T3
* Acidic /o1
e Neutral IERA

Correct Answer :Acidic / 37

37)
Question Stimulus :

Name the gas evolved when ethanoic acid is added to sodium carbonate. /

QUTIge 31 i Riead s A2 7 STamR it 19 Facrerdlt gswent 90 Saisd

e SO2

Correct Answer :C O2

38)

Question Stimulus :



Which among the following sets are members of the same family? / Rf@@a#n g q9g & T gHM
T WERY § ?

e LI Be, B
e Na, O,P
e Na, Mg, Ca
s F, Cl, Br
Correct Answer : F,Cl, Br

39)

Question Stimulus :

W hich component of food is not digested in/ GERESIFH IS I hiH T JEceh gl Tadr?

e Starch/ T1d

o Cellulose / Seqi=

e Protein/ &

o Fat/a@m
Correct Answer : Cellulose / Seefd

40)

Question Stimulus :

Two chemical substances X and Y combine together to form a product Z
X + Y = Z

X and Y cannot be broken down into simpler substances by simple chemical reactions.
Which of the following statements are correct about X, Y and Z?
i. Zisacompound.

ii. X & Y are compounds.
iii. X & Y are elements.
iv. Z has a fixed composition.
/S TR d X Td'Y YT H TN &h<eh Z ShIf FHT U1 ahdd &

X o+ Y = Z

X T YROT Ik a1 RT &) @Rer a i afted Agifhasn gedg | fiafd @a 7 ok o @ A



I X,Y BdhgY9 ¥ TGalg?
i. Z Qe e 8
ii. X SR g |
iii. X 4&d g |
iv. Z &1 Qe 27 3 G93=mr 8)
e i,ii,1il
e i, ii, iii
e i, iii, 1v
e i, i, 1Iv
Correct Answer : 1, lii, 1v
41)
Question Stimulus :

A gas cylinder contains 14 kg L.P.G. A family consume 20,000 kJ energy per day for
cooking. If calorific value of L.P.G. is 55 kJ/g, how long will the cylinder last? / T &

Ra® 14 fraAgadisialvey JaRE@HIGMichaa fag 0 20,000 freitSIeqEeT dhrauded
&) Rz gat o} ff o1 el A 55 fareitelel 4 aat fhaet &R b @ gl 2

24 days

38.5 days

36 days

28 days
Correct Answer : 38.5 days
42)

Question Stimulus :

A student want to have 3.011 x 10> atoms each of magne s ium and car bon. For this purpose he will have

/ vk o1 i aTn b e T dh 3.011 x 1023 TRATYL aTeaT 8|} 35kl o I8 e ghm
e 24g Mg24 g C

e 12gC and 12 g Mg



e 20 g Mgand 10 g C

e 12gMgand 6 gC
Correct Answer : 12 g Mg and 6 g C
43)
Question Stimulus :

The symbol of an element is;c P35 The electronic configuration of B~ is.... /

Ghd @ diwd 15PI P 3 e fAfea 8 i
e 285
e 2.8 2
e 2.8 8
e 2 8, 18,3
Correct Answer : 2.8,8

44)

Question Stimulus :

An organic compound which is used as preserva ve for food, gives effervescence with baking soda. Its sodium salt
forms methane gas when heated with soda lime. The organic compound is-/ Uehenlal HehfATTehSTIHISTHIcherd
T R & Sl aRg AN RAT ST & ag forchy e & a1 ggag- &1 & 39! fRiisad dqur gier
ATEH & 919 T & UR Hid A8 991a1 & ahraif Hen Rivren &
e Ethyl alcohol / Q ] Qxf?fﬂ

e Benzoic acid / & STigeh 31

e Ace cacid / Ofdftees a1
e Sodium benzoate / f&tsad 9 Siiue

Correct Answer :Ethyl alcoh & ¢ Tgia

45)
Question Stimulus :

The formula of a metal carbonate is M2C0O3. What will be formula of its nitride?

| e e A BT Y & M2CO3 | 39 AT3E 138 1 g, TGN



e M3N
e M3N2

¢ MN

s MN2

Correct Answer :M 3N

46)

Question Stimulus :

The atomic mass of an element is 19. The second shell of its atom contains 7 electrons. The number of protons in

the nucleus is /ye 4 9R[degRpEeRATL S Tha dlar A 75 Mg | a9q
YerER 12

Correct Answer :9

47)
Question Stimulus :

Calculate the amount of calcium carbonate required to prepare 14 g /0f4cg11c€ﬁl¥f¥f SNitES.
AR 37T Thch THRTS HechHT 10 fcheTdent |

e 18g
e 36¢g
s 10g
e 25¢g
Correct Answer :25 g

48)

Question Stimulus :



Steam causes more severe burn than boiling water because / IseTd T chl 30 T 97T TeT 7ofiR et @At

Temperature of steam is higher than boiling water / 99 &[T d19 Ideld g1 & 18T &ldT &

e Steam has more heat in the form of latent heat / HrUehr & 7T Td AT F Uq TErgrg

e Steam is in the vapor form but boiling water is/Rquial for&H gieft & e Iaretar
Ut FUAgdg

e Steam can penetrate deep in tissues. /  WTUSdhiH TSk Y Hehdl! &

Correct Answer : Steam has more heat in the form of latent heat / MU R FTIT FTH UH

TeT gt &

49)
Question Stimulus :

The most dangerous metal pollutant of automobile exhausts is- / M STgAT 1T ek T Jad WA grq
T &

o Llead/d2

e Copper /MR

e Mercury /TIRQ

e Cadmium / hfgwad
Correct Answer :Lead @2

50)

Question Stimulus :

A beaker contains water with ice cubes floating in it. What will happen when the ice melts? / T &R H STet
T ITH RB TG FIHS 6 | % Hf e W T gRM?

o Water level in the beaker goes down. / iR T @ el &1 T H1 311 ST
e Water level in the beaker will remain the same. / St 7 & STel &l I THH L
e Temperature of water will remain same. / STeT &l ITOHT JH T

e Water level will increase. / STef &1 3 ST

Correct Answer : Water level in the beaker will remain the same. / R 7 & 16l AT I GHA

I



Topic: Maths
1)

Question Stimulus :

QD*x (D)F= O+

|f . then* AR O (]4 (_}5 (4):r+‘

Correct Answer 4

2)
Question Stimulus :

Find the value of k, if the polynomial p(x) =5x*— 3x* +2kx -9 i5 divisible by 2x
1/ k@& ard 1d &3, AT 3 ug p(x) = 5¢%— 3x? +2kx —9 e 2x1 Af afAreral war SITg?

73

Correct Answer : ©

3)

Question Stimulus :
Equation of the line passing t hrough ( 2, 4) which is parallel to y axis is

| 2.8 T gl oA arel T
Tt St i y of FeiaR & <

e x+2=0

e x2=0



o y+4=0
e y4=0
Correct Answer : x+2=0
4)
Question Stimulus :

E quation of the line passing through ( 2,5) and paralle]l to x=2 is¥ 7oA avelt W X2 & AR
W adewog |

e Y=2

e X=5

e Y=5
Correct Answer : X=2
5)
Question Stimulus :

In the figure, if LAC0=120° " +hon the value of x+y is_______ / zaf= A, e
LACD=120° Gt y+y @ HEE

120

¥

o 160
e 140
e 120
s 100
Correct Answer :120

6)

Question Stimulus :



A chord of circle of radius 10cm is 12cm long. Then the distance of this chord
from the centre of the circleis _______ / T® 10 ¥Ff 1 arelt g & ges Sfar 12
Thah ity Fad Fsastardgh g

e 6cm

® 5cm

* 3cm

s [2cm
Correct Answer :8cm
7)

Question Stimulus :

Perimeter of an isosceles triangle is 24 cm, the ratio of equal sides to its base is

3:2, then the area of the triangle is _______ /g @ff ar {5 & o Ry 24 4=
g, 3G T et T SR T Syrd 3:2 8,1 aaf qS[ dl thed g

. 18”’§sq cm
. 18”‘ﬁsq cm
. 54*ﬁsq cm
. G”Eq cm
Correct Answer :18 V2 sgcm

8)
Question Stimulus :

The radius of sphere whose surface area is 5544 cm?2 is /

P ok 0% M & g R wa 5544972 & 3Tt

e 2]l cm

7.5 cm
e 42 cm
e 63 cm

Correct Answer : 21 cm



9)
Question Stimulus :

The polynomials ax3 — 2x2 — 10 and x3 - 2x + a when divided by (x - 1) leave
the remainders Rand R2 respectively. If 3R2 - R1= 3, then‘a’=/ dU& ax>
2x2 =10 Ud 'x3 - 2x + a @t oid (x — 1) Afafrgalema snar ¢, g A% & ug AW
RITd ' R2 T gld 8 | AT 3R2 - R1= 3, d9 ‘a’ =

Correct Answer :3

10)

Question Stimulus :

Ifa+b+c=2anda2+b2+c2=12,thenab+bc+ca=ife 5+ b+c=2ug a2 + b2 + ¢2 Fagldb + be + ca =

Correct Answer : 4

11)

Question Stimulus :
The remainder, when the polynomial f(x) = 2x3 — x2 2x +5 is divided by (x + 2), is /

A (x + 2) A afArsral war ST 8, < a9 99

99 F Ue f(x) = 2x3 —x2 2x +5

e 10



e 3§
Correct Answer :11
12)
Question Stimulus :

BF || DE and AB OBF. If OBAC = 50 then, DADE =/ BF || DE Ud AB OBF.Rg

OBAC = 50 ad, OADE =

e 140

e 110

e 120

e 100

Correct Answer :140c

13)
Question Stimulus :

PQRS is a parallelogram. STOPQ and QY OPS. If PQ =12 cm, ST =4cm and PS
=6 cm then QY =/ PQRS U@ gAidY gy & &|% ST O PQ ud QY O PS. RAr PQ =12
gfl, ST = 4 @M vd PS = 6 @A, 99 QY =

e 10 cm

e 8cm

e 14 cm

s S5cm
Correct Answer :8 ¢cm
14)

Question Stimulus :

The lengths of sides of a triangle are in the ration 5:5:6 and its perimeter is 32 cm. Its area is/ Tehl ¥ ARSI



qopeidhicaTsdl e SgIa g 5 5: §d 39t U Ry 832 I 35U B B

e 00 cm2
e 48 cm?2
e 04 cm2

e J2 cm2
Correct Answer :48 cm?2

15)
Question Stimulus :

If the diameter of a right circular cone is 14 cm and its volume is 308 cm3, then
its height is / R Teh sl fg 7 &ich T 197 14 T Ud 59T Saa 308 THI3 8, aw
SYch! AaTS gt ;

e 8cm

e 10 cm

e 6cm

e 12 cm
Correct Answer :6 ¢ m
16)

Question Stimulus :

The arithmetic mean of first five two digit natural number is 13:/ ¥ Ui= &I 3ichl Y Tfehcten & 11
AR AT §

e 13
e 14
e 12
e 11

Correct Answer : 12

17)



Question Stimulus :

A book seller has 48 English, 72 Kannada and 96 Hindi story books which are to

be packed in boxes. If each box has the same no. of books of the same
language, then the number of boxes required is: / T& g &g ar & g 48 3 S,
72 & 5 3R 967 e T e if e f s v e 7 A mm s @l Re & a =\

TH AT &Y Qi bl § T9H §, 2 A e o | Y 311a ohart gl

o 4

Correct Answer :9

18)
Question Stimulus :

| f th e sy stem of equ ationsx+2y =3 and ax+By +ay =12 hasin fin it@y many
gl 9arg x + 2y =3 Yd ax + By + ay = 12 & U Rgqd u ¥ e3A% g g, 99

e a=3B
e B=3a
e a=p
«a= B

Correct Answer :a = f

19)
Question Stimulus :

The value of P, for which the equation 2x2 — 4x + P = O has real roots, is: / P &

o, g g TR 2x2 —4x + P =0 ¥ af g gel 8, & :



Correct Answer :P < 2

20)

Question Stimulus :
Which term of the sequence 106, 100, 94, ........ is the first negative term? /
HONGh UG i g7+

AqH 106, 100,94, ........ T 9Hq
e 15thterm
e 20th term

e 19th term

e 17th term
Correct Answer : ibterm

21)
Question Stimulus :

PA and PB are two tangents drawn to a circle with centre O from an external
point P. If DAPB =40, then OOAB is:/ O @& dliiyehg WRUkhaT sgdarar  _p
¥@d PA Td PB @it ndft| fle OAPB =40, a9 OOAB &:

A

e 80

e 20

o 40

e 60
Correct Answer :20c

22)

Question Stimulus :

ABCD is a rhombus with AC = 6/3 cm OADC =120 © Then the length of side AD



is / ABCD W& gmagy s 2@  AC = 6V3 cm, DADC =120 &<} a@ s AD a1
gt

e 6cm

e 3cm

o« 3V6

e 4V3m
Correct Answer :6 ¢cm
23) m

Question Stimulus :

In a circle of radius 7 cm, an arc subtends an angle of 36 at the centre. Then

the perimeter of the minor sector is / 7 @ofiof” Tarel § &I Ush MU & UI 360 g
RIOT 3ict ¥ el B At g @ U Ry ghft

e 18.4 cm

e 17cm

e 164 cm

e 18 cm
Correct Answer :18.4 cm
24)

Question Stimulus :

2 cubes each of side 3 cm are joined end to end. Total surface area of resulting

cuboid is / 3 YoHto ST AT &F T & el Thelehf A TE| T TN BT G Bed §
e 27 cm2

e 45 cm?2
e 4 cm2

PY 90 cm2

Correct Answer : 90 cm2



25)

Question Stimulus :
Sum of the e xponents of Prime factors in the Prime fac tor iz ation gﬁf %Z-IQ ]'i / 5 ZQ T o

Correct Answer :5

26)
Question Stimulus :

If m and n are the roots of the equation x2 + 5x 8 = 0, then the value of m2n +
mn2 is /A% m gd n IMHIT x2 + 5x 8 = 0 F AL &, 99 M2Nn + MN2 & AT §

e 40

* 32

e 40

e 32
Correct Answer :40
27)

Question Stimulus :

The quadratic equation, one of whose roots is 1+ 43 and the sum of the roots is

2, is / Pura aeftezon Pogsr ue gq 1+ V3 dudueer 28

e X22x2
e X23x+2
e X23x2

e X212x2



Correct Answer : 22x2

28)

Question Stimulus :

W hich of the following is the solution of the equation 2)(2]?[]:{1?[@_?r 0.2 2 x — 6 =

HEgAE P

—3

Correct Answer 2, 2

29)

Question Stimulus :

4 4
If tan C =3, then cosec C =/ g tan C % d9 cosec C =

5
3

3
5

5

Correct Answer : 4

30)
Question Stimulus :

The ratio in which the line segment joining the pomts P (1, ) ,Q(2,1)is
divided by the x axis, is / ag srqgraf sraa fa&fagsg P (1,2), Q (2, 1) ot fmem
aTelt IS X3 & Rif afArerd gt 81



Correct Answer :2 : 1

31)
Question Stimulus :

The areas of two similar triangles PQR and LMN are 324 cm?2 and 196 cm?2
respectively. If PQ =27 cm, then LM is /& @x uf 45 PQR Td LMN &l %l
[ 324 W2 vd 196 M2 gl A PQ = 27 I, 9 LM =

e 21 cm
e [2cm
e 14 cm
¢ 9cm
Correct Answer : 21 cm

32)

Question Stimulus :

The radii of two circles are 25cm and 7cm respectively. The radius of the circle, having area equal to the
difference of the areas of the two circles, is  / ?ﬂi[\faﬁ‘f\ T4 AT - 25 IHUGaHE I?ﬂzﬁq\fa%
" TheTch 3R A hetdlelg Hif 18
e 24 cm
» 20 cm
» 2l cm
e I5cm
Correct Answer : 24 cm
33)

Question Stimulus :

A sphere of diameter 3 cm is completely immersed in water in a right circular cylindrical vessel of radius 3 cm.

The rise in the level of water is / 3 3 19 aTet 7Miet bl Geh 3 AHIf 1Al & g ThR FSHTHR OT



AT QUG A&l A h A F 8¢

[

[ ]
e | 0
@
3

1
Correct Answer : iIcm

34)
Question Stimulus :

If 6 is an acute angle, SinB can be written as / fag 0T JiaﬁUT goas Sin @@T\\GI'@T

STHhATE o

41— cos” &

-,|'1+|:c+5: &
A1+ cos 28

J1—cos28

1—cos- @
Correct Answer :

35)
Question Stimulus :

In a AABC, right angled at B, if AB = 4 and BC = 3 find sec A./ AABC &, St B R #ahivr g, A AB = 48k
BC =3, d@ sec A Td fhery|

e 125

e (.75



e (0.6

Correct Answer :1. 25

30)
Question Stimulus :

Which of the following options i aB @ Oif g TTerqd g2+
o cos’@-l=sin’@
sec’f+tan’ =1
cosec’@=1+cot’ 8

tan® @ —sec’ §=—1

sec’@+tan’ @ =1
Correct Answer :

37)

Question Stimulus :

If cos ® =15/17, thensin®=_____ 2/ % cos 8 =15/17, d9 sin 6 =
_________ ?

e §/17

e 17/8

e 15/8

e 8/15

Correct Answer :8/17

38)
Question Stimulus :

In AABC, right angled at B, AB = 24 cm, BC = 7 cm, Determine cos C/ AABC 7, St B W THAITE o AB =24
gat, BC = 7 941, cos C fAur 3d &R

e 7/25



e 24/25

e 7/24

e 24/7
Correct Answer :7/25
39)

Question Stimulus :

W hich one of the following options & flgemd ¥ /& s a1 ag g2+
cos’ 8 +sin 26 =1
cosec’@+cot’ #=1

cosec’@=1+cot’ &

cos ecd=1/sin > &

cosec ®@=1+cot’ @
Correct Answer :

40)
Question Stimulus :

sin 4 + cosA}
is

6( sin A + cosA]
If cot A = 3/4, WRRE006 8

q3
/] R% cot A=3/4 \SINAd-cosd

Correct Answer :42

41)

Question Stimulus :



] ] g 2

: m- —n" : m- —n
s o d=—7-——— smAd=————
m- +n” m-+n

If  find cos A/ g , CosA T1d fhieu

2mn

2 2
m +n

2mn
m-+nt
Correct Answer :
42)

Question Stimulus :

If tan A=1and sin B = 1fwiﬁnd the value of cos(A + B) where A and B are

both acute angles. /A% tan A =13k sin B = 1f'/‘E’cos(A + B) o1 AF ATy et
A SR BaHl JRUTE |

e |
e
e (

. ﬁ‘b

Correct Answer :0

43)

Question Stimulus :



e 243
e 27
Correct Answer 27

44)

Question Stimulus :

gFi e [54+8“) geR e [54+5>‘)
|f , find the value of x. / g . x @1 7 iy

Correct Answer :2

45)

Question Stimulus :

§—$=zand%—%=5é §—$=zand%—%=5é
Solve / &<l fehIeTg
3
X=—\,y=2
4
L ]
3
X=—,y=3
o 4
X=—,¥y=3
4

e None of these / 39 ¥ &3 gl



Correct Answer :
406)
Question Stimulus :

1 Q -1
Given Th=X L if Tn =64 and x =2, then the value of ‘n’is/ Rarmag Th=X'
ReTn=643MIx=2, @A ‘" HTE

Correct Answer :7

47)
Question Stimulus :

1 11
r ]-.r_.r_.r
27 3 9
In G.P. e sum to infinite terms / G.P. # e 3d deh AT

1,

r

| | |
|~
o=

Correct Answer :

48)



Question Stimulus :

Three numbers are in A.P. The sum of first and third terms is 14.The middle

termis/fA UG AP T g|Uget SIR AR ug s g 14 8| 7 W18

e 6

o 18
e 7
Correct Answer :7

49)

Question Stimulus :

Simplify logm 2 +1logqg 5./10gp 2 + logyg 5 WA

Correct Answer :1

50)

Question Stimulus :

1 1 1 1 1 1
3 5 + s 3
log_x log,x logx log_x logx log x
If abc =1 then find / R abc =1 @@
s (
o ]
o 2
* X

Correct Answer :0



